Run12 preparations =57

Installation
» so far: detectors, sources
» next: targets

Checkouts

* DAQ, pulser runs
» Bias, currents

° Q runs




Detectors: installed v

2 BNL 'short' @ 90°

4 BNL 'long' @ 45° 6 BNL 'long'

Y1D Y2U
Yel | |
DAQ | MUX
Blu . MUX |
DAQ |

B1U B2D

6 BNL 'long’ 4 Ham. @ 45°, 90°

2 BNL 1Tmm @ 45°,
rotated, ports 1&6



Sources

= B1U extension brackets, B2D Gd installed v
» Will put other Gd pair in Y2U, run DAQ simultaneous w/ B2D w
2 BNL 'short' @ 90°

4 BNL 'long' @ 45° 6 BNL 'long
Am Am/Gd
Y1D Y2U
Am Am/Gd
Yel - | |
DAQ | MUX
Blu < . MUX |
DAQ CAm Am/G
B1U B2D
Am Am/G
6 BNL 'long’ 4 Ham. @ 45°, 90°

2 BNL 1Tmm @ 45°,
rotated, ports 1&6 3



Targets: agreed, next step .

2 BNL 'short' @ 90°

4 BNL 'long' @ 45° 6 BNL 'long'
all standard type
25 nm thick
- Y1D Y2U
3-prong Ho 7-10 w wide
Yel : | except as noted
DAQ ™ | MUX
Blu . MUX
DAQ ™
high | H5 high | V5 H4 50-75 u
twist | H6 twist | V6 H6 5 m, « beam

6 BNL 'long’ 4 Ham. @ 45°, 90°
2 BNL 1Tmm @ 45°,
rotated, ports 1&6




Checkout: DAQ, bias, a's

» Pulser runs all 4 polarimeters:
| didn't look at every channel, but all are getting hits
Will look in more detail next, start with Igor's reports

» Yellow still vented: no bias, a's

RHIC Polarimeter Detector Current

* B1U (reused BNL det.) . end Run11 bias currents, =~ = = —
bias @ 110V, Ibias=2.5-4 uA e

~where we left off in April:

Apro3 Apr o3 Apr 07 Aprog Apr 11 Apr13 Apri1s Apr17 Apr19
Time (Start Fill = 15378)

bi12-pol3.1-det2.i:currentid

bi12-pol bi12-pol3.1-d rrenthd
bi12-pol bi12-pol3.1-det5.i:currentid bi12-pol3.1-d

et3.iccu
1-dets.i:currenthd

3.1-detl.i:
3.1-detd.i:currentid




B1U Am a's: ext. brackets

| 190411.000 : Raw Counts per Strip | strip_dist_raw
Entries 78367
gsoo:— Run11 RMS 1023
» In Run11 w/o extension bracket *°F W
a's missed 1%, last 3 chan: "™F
1000
8003—
soof—
400
2oof
0 '1|o' - '2|o' - '3|o' - '410' - '510' - 'slo's't'_"n;o
rip
» Extension brackets installed; | oo o per Strip_| ;ntgig;d&;ga‘
now only miss 1st, last chan.: £} Run12 Rus | 2006
S 8o
o w IH
» Clear improvement,
we can live with it
v e Py |
50 60 70

Strip ID




B2D Ham. bias, a's

» B2D Ham. (det. 2-5) bias @ 10V,
iIf labels correct: | =1.67 (det. 2) [not sure units here, yA?]

0.18 (det. 5)
0.0 (det. 3)
0.22 (det. 4)
@ Only short a run (10 min.) made, low stat.
» But clear signs of 2 a's (Gd&Am), even det. 3:

| hAmpltd_st42 | hAmﬁé_smz | hAmpltd_st29 | hAmpltd_st29
Entriés 19 Entries 31
Mean 128.2 Mean 140

21— s 47.38 2 RMS 41.48
1.33— 1.83—
1.63— 1.53—
1.4f— 1.42—
1.23— 1.23—
£ o =
u.af— u.af—
u.sf— u.sf—
04l 0af
0.2F 0.2l
0‘....I........I...I....I 0—|||||||||l|l|__uu|||||| [ 0
0 50 100 150 200 250 0 50 100 150 200 250
Amplitude, ADC ' Amplitude, ADC

7



B2D 1mm BNL bias, a's

» B2D 1mm BNL (det. 1,6) bias @ 110V, | =0.2/0.04
» ~20 min. a run, nice Gd/Am peaks:

| hAmpltd_st01 | hAmpltd_st01 | | hAmpltd_st70 | hAmplitd_st70

Entries 261 Entries 191
= Mean 127.4 = Mean 135.5
30 — RMS 43.57 14 — RMS 42.18
25— 12—
- 10—
20— B
: 8-
15— B
n S
10 C
- 4—
5:_ \Jl m 2:_ ’Jl \ﬂ
o Sl Lo £ Mg 0 ol 0
0 50 100 150 200 250 0 50 100 150 200 250
Amplitude, ADC Amplitude, ADC
[] 1 ' . [] []
» Noticed 2 chan. 2 a's; were full height in pulser run
hAmpltd_st09 E:::::ltd_stggs hAmpltd_st10 E:ﬁ;::ltd_stlg3
: RMS 1736 F RMS 647
so;— 50—
50l -
E 40_—
40— E
= 30—
30— C
zo; g
10;_ 10— WJ
OE...nﬂ[‘mﬂlll-ﬂanhJ.thl,...|....|...‘| 0:...|uu1,|,..||||.,|....|....|....| 8
0 50 100 150 200 250 o 50 100 150 200 250

Amplitude, ADC | Amplitude, ADC



Summary

» Globally DAQ, dets. OK; target installation can proceed
» Source extension B1U helped
» Getting nice 2-a peaks in B2D

» Some single channel problems to investigate
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